Soustraction (H)

Calculez la différence.

3730 3856 5490 3007
611 =396 433 =810
2423 7123 9878 9332
=986 967 =838 463
2740 5286 8275 4724
=370 =336 =989 H&T
5219 3956 8917 7872
442 995 =14 =855
4244 5702 6505  T688
=973 =153 648 =139
2869 9863 5234 5341
=507  HI7T H£78 =354
5292 1198 3753 2490
=60 H31 =146 =87
5746 7168 - 2713 7417
=612 332 435 =856
6117 4409 3173 9251
417 =39 282 585
8551 5494 2824 4172
=951 670 =18 =350

8733 3954 4743 8264 4315 6561
=374 =19 =241 6 285 933
5664 8910 6362 5163 9227 4839
=32 H42 H61 A37 =100 =346
9755 3480 9593 3808 5897 6353
=438 =238 212  H61 =106 =956
237 7830 6358 8275 4353 3678
=967 =63 =996 H66 D77 =655
8r84 4022 9173 6250 4143 5815
=239 =167 =37 H33  DH23 61
1526 1903 5927 4526 3830 9274
=13 =48 =03 =154 220 =H061
2053 9387 5365 8509 8988 9721
=359 =330 =920 H3 VIO HTS
3819 6527 6114 7391 4724 8775
481 =259 H14 600 =14 =367
5514 4567 6463 5754 6558 6834
=229 821 16 =848 HI1 =836
1457 9010 5387 7744 3160 5215
440 83 =711 [76 =B48 214

MathsLibres.com




